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Answtr .{Il L ,luestions. Equal nlarks given tore-qc,h question

Ansutr: in lin6Jish only I

I ime i.i .rw.d 02 houls.

01. ,,) Whal ili meant t'Ji Fdce Elasticity of Dernand?

1)) 'r'orL al:e given the foltowilg idomation orr the lncome Elasticity of Demand

l lFll)) lbr two good$. .{ & B.

Good.-

u

litp
-2
+2

i) $/ hi(h is a Norrnal t;ood & rvhich is an Inferior good?

./ 6;'.u J{)rsible c}a rple' of rLrch good & explain uhy you have chosenihese
tio,: d;?

c) Iic ilowiDF Jata shovJ 1l,u deldil$ al-.cut the nurket for mangoes

I rir:i.
(lil r. p,lr kilo)

Ann0rnni di'-rnLnnded
pcr ive€li: ('000 hilo$)

Amount supplied
per week ('000 kilos)

40
35

30

2:;
20
1:;

l0

100
120
140
160
180
200
220

260
240
220
200
180
160
140

i) UsiDl! lhe abcve infornuttion (lraw the EJ aphs oflhe Supply & Demand ourves

1i:,1 rulrgoes. Lab€l lhese as S & D res.lcctively.

ri) \\'iirt would be the llquilibrrium Price & why?



ijil Slppose that the srrpply sohtdule above represerts the Long Run situation &
ti Li demind for l]langces doubles at each price What {ould be the

' Je.nand per r,r'edc Jl Equilit,rurm Price in the Long Run?

02. a) IJhal is a "Producljiou Po$sibility Curve"(PPC)?

b,i i Dr^\v the 'PPC' fjom :lte data give[ below

Polrliilbililies Lhits oflbod Units ofclo{h

8.0
't.5
6.5
5.0
3.0
0.0

ii) Er:iefly explait thr: terrn "Opportunity Cost" based on the greiph?

iii) i)(, the sanrc graph indicalr: p'rint 'U' referritrg to 3 lmits offood & 3 units of
r:lolh iic point 'i1' referring t(' 3 5 u4its offood & 6 units ofcloth

;v) Whal dc points 'U' & 'H' ir](iicate?

\,) [Io i, cil,1 the proi[!0t oorAbi]ution 'H' be achieved?

03 a) llriffeientiar:e betweDtL Ca rdiDall lLltility' & r0rdinal Utility'.

bJ \;,/hl does thr La$'ir,t M$rgiual tltility say?

c) l- !11h8 chiractedsfi,ts oflndififercIrce Curves.

d) Ycu ars given the firliolviog infc'rLnation'
I'riot ofgDod .K = Tis 100/=
I'rico o:fL1ood Y = ll.! 50(l/-
lrcrine ofa piuticulat. person'= IL! 2000/=

Usiqlr tlLe ab ov.^ informal:o , airiw€r it e following questions

i) .|l,ud ,rut the maximltnr am,:,unt of good X this person can buy?

ii) }:'ird out the na,timunl amrlunt o1'good Y this pe$on cm buy?

iii) I)m!v lte Budget Lin{j for thesLe two goods X & Y
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04.a) Whal do,r$ the Produ{ition Fullctior for a connnodity show?

b) '/' ' re }li\(,n lhe lollor"ir,B inloprds:6n 35our the ourput ofa good Y. as

!li') !3s!ir/e R orkers ar€j addod (€mployed) 10 a fixed amount of lard
eqoiprner*

a"rd capital

Nnrnbcr ofworkers Total Clutput (Units ofY)

0

4
10

t8
24

30
30
29
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An$ver tle follrwing qrLestiorls.

1. ::alculate the Ayerage Product (AP) and M ginr Product (MP).

2. irlot l"honi or a clea:1v labelled graph.

3. {1 ,.drrt level of employrnent does diminishing returns set in?

4 .ndrJi.t\'( learl) lhE Slages ol lroduction'on lhi\ graph.

5 h \,/hich 'Stage" doe$ a l:atiorna.l producer operate? Why?

*rr * ** * *x*:].********** *


